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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / A=faf@a & @ Fia @1 a7 T §?
1. Growth is only a mental process. / gfg dhadl Tk ARG UHhAT &l
2. Heredity doesn’t affect on learning process. / 3feJaiiQrendT 3T UfhaT &l GHTIIT Fel |

3. Development is only a quantitative process. / TI®TH hdel Teh HAACHD UThaT &l
4. Learning is a process of behavioral changes. / Q91 camaeie aRadai $r gfsar I

Correct Answer :-

« Learning is a process of behavioral changes. / 39 camaeie aRadal $r gk gl

2) How many clinical scales were there in the original Minnesota Multiphasic Personality
Inventory (MMPI)? / fie@ fAsialer AedibfRe wdaifad s=dcdl (vruadians) & fraa dAafas
YA A2

1. Nine / &t

2. Eleven / 7IRE
3.Ten/cd

4, Twelve / TR

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / i &1 ws farator &r
A g @@t 82

1. Proceed from known to unknown. /\_rﬁ ATd ) SIITd P 3R dedl %I

2. Proceed from simple to difﬁcult./\_fﬁ I T Bfdd hT 3R Jadl %I

3. Proceed from complex to simple. / ST Sifeel & T &1 3R T&dT &l



4. Proceed from concrete to abstract. / St Tl g J&A Fr IR T&d %’I

Correct Answer :-

» Proceed from complex to simple./Eﬁ JAfeeT & A T 3R T&dT %I

4) Inclusive education is currently a strategy of education based on the based approach.

| WATRY R AT # WTOIRE TReHIT F AUR W RET 1 v wehh &
1. Sympathy / Helgagid

2. Charity / &=

3. Apathy / SaRHdT

4. Rights / 3R

Correct Answer :-

. Rights / 3IfAFR

5) Gender Schema theory was introduced by . / T Thra (ﬁgT ThAT)
Rera & GERT TEI FHaT 1T T

1. Jean Piaget / K IGRERI
2. Kohlberg / Ehél%?«la'ff

3. Erikson / TR

4. Sandra Bem / €T&T S

Correct Answer :-

. Sandra Bem / 13T dH

6) According to Vygotsky’s theory, the most suitable instruction to support social learningis ./

aEAcEA & R & IR, aefaw A & wadd w9 F Qv g9d sagEa e
gl

1. curriculum / UT&dshH

2. students work together on the task / ST PRI W TH 1Y HIHA Pl %I
3. students’ individual work / ©TAT & <IfhaTd BT

4. traditional teaching / URURe fRrayor



Correct Answer :-
 students work together on the task / &I FY W TH TqTY HH R &l

7) What are tests that rely heavily on language based reasoning called? /

VG qHeToT FIAT FEdTS & ST ST IR dhufdad W R Fa &2
1. Accuracy tests /Uﬁ'\’l@?ﬂ Q6707

2. Culture fair tests / {-I{-Gplra 3ol q&ToT
3. Verbal tests / FIf &P gdretor

4. Nonverbal tests / GThfcieh GI&TOT

Correct Answer :-

e Verbal tests / Al T&H CIff&TUT

8) What aspect of personality makes a child more likely to be outgoing? /
wfFdea & FH 95 & 922 & 3z (Rl @ i waaar 98 Jret 82

1. Extraversion / aﬁ%aiza?n
2. Introversion / HH%EHT
3. Socialisation / THATSIIRIOT

4. Neuroticism / Wﬁiﬁﬁ

Correct Answer :-

 Extraversion / Elﬁ-?i'@T-ﬂ

9) Bandura’s 4 principles of social learning are: / WTHIfa® R & 930 & 4 gy 587 TR &
1. Metacognition, Attention, Engagement, Motivation/ WQH, &1, S31d, ROt

2. Retention, Cognition, Attention, Motivation/ gfaaror, 3'1?1’3@, &1, UROT

3. Attention, Retention, Reproduction, Motivation/ €T, ‘;Iﬁ‘il'l'\"UT, Uoldd, ROt

4. Attention, Engagement, Collaboration, Motivation/ &1, SJgId, ?l'eﬂﬁ, oRoT

Correct Answer :-

» Attention, Retention, Reproduction, Motivation/ €T, UfduRoT, Ui, Uom



10) Adolescences form their own image and integrate their own ideas as to how they wish to be referred
to, this is /AR Il T Y BT Famd § AR 39t F@F F AR A thFa w7 § &
¥ FH X Weiid <1 98d &, I8 Feddl ¢

1. Crisis / d&c

2. Ego identity / 3% UgA
3. Ego ideal /378 3eeY

4. Ego / 3T&

Correct Answer :-

o Ego identity / 3% UgAT

11) At what age does the child learn to control the expression of emotions? / HTEATHT Y AfRIFT Fr
frafia Fear sear frw Iy & dwar @2

1. Adolescence / fopeMRTaEaT
2. Birth to two years / STeH I a¥ db
3. Late childhood / T% dTeITdEAT

4. Early childhood / URfH& arearasam

Correct Answer :-
« Early childhood / UR#$ arearasar

12) Which of the following theories acts as a bridge between behavioral and cognitive learning theories?
/ farafaf@a & & Fie- a1 Ry sqaer 3R Fararcns srfterr Rguiat & & vw @q &1 F13 Far
&

1. Humanistic theory / ATAGATIIET (AT Ech) Rgled

2. Cognitive development theory / ETATCHD TdhrT Fgled
3. Social learning theory / AT 3 TATH RAgled

4. Existential theory / 3edca Bgled

Correct Answer :-

« Social learning theory / GTHTToI TAIH FAgr=d

13) Which of these statements is true with regard to aptitude and competence? / TH U PiA-AT FUA
Aegar 3R & F " #H g ¥



1. Aptitude is an inborn potential to do something. / & A & oI JTTAT Th AT FHTIAT
(@PreTaa) ¥

2. An aptitude is a developed knowledge. / AT U [aefad A §l

3. A competence is a part of an aptitude. / 8T Ueh JITAT T Th T &l

4. A competence is an inborn potential to do something. / $S A & T &TATT Th SeAATd THTTAT
(PTAETHAT) B

Correct Answer :-

* Aptitude is an inborn potential to do something. / $& A & [T ATYAT Th AT HHTIAT
(FreTadn) T

14) Which chart shows that the highest return of investment in education is maximum during the early

years? / PIT-TT 3@ gauiem § B qeameht aut & e Rram F e w1 Reet siftwaw ¥
1. Heckman’s / §haiel

2. Wisconsin’s/ Ta&hifeaeT

3. Hurlock’s/%??vﬁiﬁ

4. Puberty’s / TlaeTdr

Correct Answer :-

e Heckman’s / %‘cmﬁ?r

15) Who introduced the term L.Q. (Intelligence Quotient)? / fF¥a 3m$. 7Y, (F5f&r 39aeuan) uq
yfamfe frar?

1. Terman / &<

2. Galton / 3teea

3. Binet / fdac

4. Guilford / Fra®Is

Correct Answer :-

e Terman / e

16) The psychologist who discovered that children’s perception of reality is not learned from adults but
is constructed is: / 9 FAANAANAF fHHA TaT AT 6 q<a F IEAAFAT H UROT TITH T G
W s &, AP e [Ar R Jar @) @ &



1. Jean Piaget / Sfied TOamS

2. BF Skinner / & Th [&heak

3. Amnold Gesell / 3TdTes el
4. Howard Gardner / {—'?I_cl'lé M

Correct Answer :-

« Jean Piaget / SiiT s

17) During which stage do children start reasoning? / fF¥ 3aTAT H TTF dh HFLAT >E T &2
1. Adolescence / TeRIRTaEAT

2. Late Childhood / 37X dTedrasAr

3. Infancy / QraraEam

4. Early Childhood / Q& dTeareae

Correct Answer :-

o Late Childhood / 37X dTeITaEAT

18) Teachers should take a/an rather than group perspectives when
considering diversity in the classroom. / &Il A RfTyar w AR A,
et 1 THE F TCHIUT F TAT H & Tfewlor Y eae T@en
Tifevl

1. Group factor / HIg hHRD
2. Opinion / 3TTRHAT
3. Student / &

4. Individual / STt

Correct Answer :-

« Individual / SgThaTa

19) Which of the following is not an aspect of metacognition? / fFafifaa & 9 1
Hha (ASTHTHIRM) T TP U Tl 872

1. Altering consciousness/dcell H eIl




2. Revising cognitive strategies/H<TellcHd I0TATAAT Pl TMAT HIAT
3. Planning cognitive strategies / HATATCHD I0TATAAT T ANSAAT FATAT

4. Monitoring cognitive strategies / H<TATcHD IOTATAAT T AIRTAT B

Correct Answer :-

« Altering consciousness/dclell 3 STl

20) Which of the following is not true about the teaching process? / fafafaa o
Rreqor uftrar & 9 o w1 9@ 8 82

1. Teaching is the process with a purpose to bring about learning. / T1&T0T Uh 3227 b AT 3 TAITH
S uferar gl

2. Teaching does not sway the whole process of learning. /@Wﬁ%ﬁ@gﬁvmaﬁ@?ﬁ
el

3. Teaching does not need a formal set-up. /fﬂmﬂsﬁvaﬁwrﬁzﬁgﬁmﬁaﬁrmwﬂaﬁ%l
4. Teaching should be centred around student. / TRI&0T B3 & 3M9-99 ofad g1 AT

Correct Answer :-

- Teaching does not need a formal set-up. / TRI&T0T & forw 3T=Tiies giarare ol 3maTehdr 781 ¢

21) Which of the following does not apply to the brainstorming process? /

frafafad & @« fa=r fawef ufear & e arp 78 ar 82

1. Generation of unusual ideas. / 3HHY faRl &1 goi-|
2. Criticism of ideas. / Ta=RI &1 M@
3. Associating different ideas to come up with a new one. / - & 1Y 3 & ford fafa faart &1 Sre|

4. Quantity is more important than quality. / T[OTGT &1 a1 & AT 3ife Ag@yuf 3|

Correct Answer :-

« Criticism of ideas. / faaRI &t TeA=ATI

22) According to Martin and Halverson, when young children observed gender inconsistent
behavior, they tend to have:

| FfEe 3R PoaET F IHER, I B Fedl A AT F HAAT qIGR F HqAlHa
ar 3o I§ wgi or:



1. A distortion of memory/ H{% &Hr ia?gié

2. An accurate memory / Uch el i

3. A rejection of the behavior/ STa@R &l &P

4. An imitation of the behavior/ TIdeR P Thd

Correct Answer :-

« A distortion of memory/ Hf &I faepia

23) What problem do children with anorexia nervosa typically have? /TaARTFEaT Aafar &
affa s<at 1 At ¥ ¥ Far FAEar g 82

1. Problems with impulse control / 3Td9T @I=0T & ATY FHATAT
2. Problems with body image /2R UfdAT & ATY FHAEIT

3. Reduced physical exercise / & RS cIrma

4. Excessive eating / 3 HISTA BT

Correct Answer :-
« Problems with body image /NI UTAAT & T HHAEAT

24) What is more likely to help a child remember a story by Tagore? / &R GaRT Tsh Hgler
I IIG T@A H T8 I AGE A T HOAF FEaT 741 {2

1. The moral of the story / @il &7 Afdd
2. The size of the story / &elAT &I 3THR
3. The font of the letters / 37&RT & Hiec

4. The colour of the title /e T T

Correct Answer :-
 The moral of the story / HgT & Afdd

25) Eliminating caffeine and sugar from diet before bedtime ensures - / Hlsf ¥ Uga 3R &
FheT 3R Af B gATCT FE 58 gARET war &

1. Reduction in stress / daTd # haT

2. Good functions of muscles / ATTUTAAT &H agaq Uehry



3. Good sleep / 3T i

4. Good absorption of nutrients / GT¥eh dcdl T TSI ARMNTOT

Correct Answer :-

« Good sleep / 3TTHI =ig

26) How information is typically stored in semantic memory? / 3[H R R 3rfra
wfa (Rfes am) & e 9 Tudia gidt 82

1. Networks/ m
2. Skills/ @piereT
3. Tasks /13t

4, Groups /H?E?f

Correct Answer :-

e Networks /ﬁ cd E|5|

27) Mild retardation is a category of mental retardation having an IQ of ./

Hg Hed AP Aearpt AR __ o1 e g 21
1.70t0 89 /70 € 89 dh
2.20t029 /20 ¥ 29 dd
3.50t069 /50 ¥ 69 dd

4.30t049 /30 & 49 d&

Correct Answer :-

¢ 50t069/50 ¥ 69 dh

28) To improve the problem solving skills in children, which of the following

things can be done?/ S=I ®1 THWTSM I YA & HINA T JUR HH & T,
fFrafafea & & T fFar s 9w 32

1. All of the above / 3Uh Y

2. Invite children to talk or write about ideas only / hdel TIORT & IR H a0 I IT @ &
forT g=at & 3T &



3. Ask children to draw pictures for stories only / I<al & hdel el & forv —T T &t
e |

4. Use blocks and models only / hael selich iR HAiselT T STATT P |

Correct Answer :-

« All of the above / U HHT

29) Inclusive education means: / GHTARN fRI&T &7 3 8:

1. Education for all children in school. / ¥bd Aot g & ﬁﬂ! fRrem| aTaRh e o1 oref %:
2. Education of intelligent children. / it =il &1 fRigfm|

3. Education of the poor children / TRIS S=di &1 fR7&fT

4. Education of the minorities / SRR | B R8T

Correct Answer :-

« Education for all children in school. / ¥hdl # ot gt & forg Rrerm) wHa=i Rren &1 o @
30) GAD stands for: / STUS} &1 313 §:

1. Genetic Anxiety Disease / m =Iar Qo1 (SAfed Tarsdr 3E)

2. Genetic Anxiety Disorder / 3TIaRI® Ridl fa@R (SHfew Tomze! fewaiieR)

3. Generalized Anxiety Disorder / HIHAEAGd AT [APR (SAcsss Tager BE3ER)

4. Generalized Anxiety Disease / ATHICITHA IEGIR NG ECIEEERYCIEARELIS)
Correct Answer :-

« Generalized Anxiety Disorder / ATHT=AIhd idT f[aeR (Sarsss Tomger fBE3ER)

Topic:- General Hindi (L1GH)

1) &R & wrerifa fe emel

T 919 Hed AYH &, THER I YT
T ifd TR g9 Ul €, 919 T® U veru|
¢t g o oY ST, SNT-T3H e
ST YA AT 3T &, IR R Staa U@



3F 31U T B UTSE, g9d 9 §d qRI¢I

o Y rifa B¢ 3y, & SR orfifa gl

ST SR N TR YR, S UolT 7 WAIfE Fare|

ST UL $I Ugh 1 TR W a1 YR BT IR T3¢l
TY: ‘Stad YUY BT 741 Weard 82

1. gFI-fRa &

2. 598 ¥ RIS AL

3. 91 Srerdr oAt

4. 9u fEerdr o

Correct Answer :-

« FHAI-RT &

2) gf¥ & Ioifa ufe el

TS 910 Bed AYH &, GHER T4 YT
3% 3fd Ige ga ufeel &, o & Ty verul
T¢I gf S i 3@, SRT-7eH ysTu |

S WA TR 3R &, W fRa Siaa gl

3T U T B UTSe, T9d F g YR

A T ST BY YA, & SR S gaTwI
IS RA 1 T8 G, S U1 7 S1E e
ST TR $I UgH - TR T I U BT IR ga1stl
uY: ‘5% 3ifd IR gd ufed & | = aread 82
1398 & PIg e

2. IX AT TH B E

3. TN HHT T G B

4.Th df I Ugel ¥ & I &

Correct Answer :-

« Th dl d Uged @ & TR B

3) R & worifa ufe s



TqEf 91d Bed AYHR P, FHER T4 UC|

3% 3fd Ige ga ufeel &, o & Ty verul

T¢I gf S it 3@, SRT-ieH ysTu |

S WA TR 3R &, W fRa Siera gl

3F 3 AT BR UTse, Iad J g qRICI

A T erfifa B 3y, o iR orfifar geTUI

IS ERA < T8 G, S U1 9 A1E e

ST TR B UgH - TR W a1 U BT IR st
TY: 3T [E Y YT H MT {59 3y B 3R Jdbd o3 L 72
1. Ty Fifed & 3R

2. @t & ufas getoiy & AR

3.9% & WAL A Ue T TY FH IR

4, fopdY 3 &

Correct Answer :-

o 9% F FAT H U T JY & IR

4) gf & werifa ofe amul

i 919 Hed AYH &, GHER I UIC|

7 3f IR g3 ufee €, o T 3 e

I gf S i 391, SIRT-iH UsTu |

St U TR W &, W Fa Shea 4|

3F 3(U T B UTSE, I9d 9 §d RI¢I

o Y rifa B¢ 3y, & SR orfifa geml

ST SR N TR YR, S UolT 7 WAIfE Fare|

ST UL $I UgH - TR W a1 YA BT IR ga1s¢|
TY: MG & AR IS BT YH 7 FHT AT

1. 873 9 F U ]|

2. ST & g9 o AR IS W S T F A S
3.9 & o faerd |

4. TSI T el P




Correct Answer :-

o TS T FY o 3R U W B 3 J 37 S

5) g § Wit ufe smyl

et 9T FEd WYFR F, FHGR FY UIT

3% 3fd Ige ga ufeet &, 9@ & Wy verul

T¢I gf S it 3@, SRT-7eH ysTu |

S YA AT M P, W R Sera Yrg|

3F U T B UTSE, Td F g qRIC

Y 3rfifa ®¥ myH, & 8iiR erfifa g

IS RA 1 T8 G, S U1 7 S1E e

ST TR $I UgH - TR WH a1 U BT IR a3l
w: M 7 fPad Areay A $7 ST U= WS W BT YT foman 32
1. It

2. Pleel

3.3¢d

4, 3= MUl

Correct Answer :-

6) &R & I ufg emu

TgEft 9T FEd AYFR H, TUER TS U

7 3f IR g3 ufee €, o o 3 e

I gfS S & I, TT-HeH veTu|

St U TR IR &, W Fd Shea 4|

3F 3 7T BR UTSE, Iad J §d qRITI

o Y rifa B¢ 3y, & SR orfifa gem

ST SR N TR YR, S UolT 7 WAIfE Fare|

ST U $I UgHR -7 ID T a1d U= $T Ik Fasu|
oy M 7 = a1 argd @ P W+ faam?



1. ¥l 3€a &l

2. 9TaT ¢ Y

3. 3 HATAT HH Bl
4. 3% HIS ToRTH &l

Correct Answer :-

o AT 3G Pl

7) &R ¥ weifa ofe ey

Ui 919 Fed AYHR &, TUNER U UY|

3% JAfd IR g ufed &, 919 ¥ UY UgTu|

I g S & I, FT-HeH veTu|

S Wa @R SR &, W fRd Siera gl

3F 3 7T BR UTSE, Iad J gd qRITI

o Tt SFfifa ®Y 3y, o SR Sfifa geTUl

ST SR N Y@ YR, Wi YTl 7 WAIfE Fare|

STTd U= $I UgHR A9 IR W1 a1 U= $T I} Tarsy|
UY: HWT A MW F 1T ST-HIH UsTe’ 1 71 7 8?2
1. FeT-Her fHsraran

2. T A-faclA A P Bel

3. PUTAHATIT &Y a1 H

4, JEMEATT IATAT

Correct Answer :-
« NT-HSQ THSTara

8) gt & JerHifa ufe smu|

TS 910 Bed AYH &, GHER T4 YT

3% 3fd Ige ga ufeel &, o & Ty vgul

9 gf S St @Y, SRT-7eH ysTu |

S WA TR 3R &, W fRa Siera gl

3T 3 A BR UTSE, Iad J g qRICI



o Tt SFfifa ®Y MY, o SR ofifa geTUl

ST SR N TB YR, Wi Ul 7 WAIfE Fare|

STTd U= $I UgHR A9 IR W1 T U= $T I} Tarsy|
TY: FOT A U gd B FT UAT 32

1. TSTeifden ardm aal

2. 919 & foT

3. FeeAldd HRAS & forw

4, MUAT T FTA-ATT AT

Correct Answer :-

9) &Rk & werifa ufe amui

et 9T FEd WYFR F, FHGR FE UIT|

3% 3fd Ige ga ufeet &, 9@ & Wy verul

T¢I gf S it 3@, SRT-7eH yaTu |

S YA AT M P, W R Shera Yrg|

3F U T B UTSe, Td F g IR

Y 3rfifay B 3y, & 8iiR erfifa g

IS RA 1 T8 G, S U1 7 S1E e

ITed U HI TSP IR IS W1 9T U= $T IR ga13¢|
TY: 39 UG & 3id | W g A A Ffa &1 T aread 82
1. foam ANfa &

2. MfATaET

3. Afafed

4, I

Correct Answer :-

10) &R & Terifa ufe ey
W 91d Hed Ay ¥, FHAER 99 Q|



3% 3fd Ige ga ufeet &, o & Wy verul
T¢I gf S it 3@, SHRT-1eH yaTu |

S YA AT M P, W R Sera Yrg|

3F U T B UTSe, Td F g qRIC

o T erfifa B 3y, o iR erfifar geTUI
IS RA 1 T8 G, S U1 7 S1E e
ITed U HI TSP IR U W1 9T U= $T Ik ga13¢|
TY: 39 UG § W g "0 B’ BT o 32
1. ST A1 end & §

2. [T A1 R & 'l

3. foater a1 R A& & 1

4. A Pl wel IR SAIAT

Correct Answer :-

o AT P Pl IR ST

11) &R & Arerifa ofe emel

TN 9T Bed AYPR F, TAER T Q)
¥% 3ffer IgR g ufed &1, o1 TE WY gl
T¢I gf S it 39, SRT-H UsTu |

S Wa @R SR &, W f3d Siera gl

3F 3T T B UIge, Iad 9 §d RI¢I

o Tt SFfifa ®Y MY, o SR Sfifa geTUl
ST SR N TB YR, Wi Ul 7 SAIfE Fare|
STTd U= $I UgHR A9 IR W1 a1 U= $T I} Tarsy|
UY: 9 Ug H aR-IR gR fHus! o1 mar g2
1. g &1

2. 9Tl S &l

3. farsuy @t

4. GOUT Pl

Correct Answer :-



12) &R & rorife afe eme

T 919 Hgd AYH &, GHER I UT|

3% 3fd Ige ga ufeet €Y, 9 e HY verul

T¢I gfS S & I, TT-HeH UoTu|

S U TR IR &, W 7T Siea |

3F 3(U T B UTSE, g9d 9 §d TRITI

A T erfifa B 3y, W 3R erfifa geTUl

ST SR N TR R, S WSl 7 e Fare|

IWe U FI TP Y IS W1 9T U= P IR a3t
TY: 39 BiaaT ¥ 'AYHY’ Vs [Tk e ugaa gan 22
1. /Y 3R MRt gRT 3ga & forg; o=t & w6 €
2. PoUT I RRA & fow

3. haa HR & foT

4. Pac MG gR1 Igd & fory

Correct Answer :-

. i 3R M /T 39 & fow; At & w8 €
13) &R & rerife afe emg

TSl 919 Hd AYDT &, JHER 99 Y|

3% Afd IR ga ufed &, 9F T UY ugu|

941 9fF St o I, - yeT

S WA TR 3R &, W fRa Siara gl

3T 3 7T BR UTse, Iad J g qRICI

A R orfifa B3 oMy, & SR eFRfY geTUl

IS RY < T8 G, S U1 9 A1E e

SUT Ui FI UgHR -7 ID WA a1 U= $T IR Farsu|
wy: fora aa A it 3t fave & &t &1 &1 far
1. ATAT-Tar &1 oy

2. 3€d @ ANEHA IR AT W AgF07 FHr 9@




3.0 ¥ fagmr
4, grATfas oy

Correct Answer :-

o 3gd @ ANEHAA IR A W Fg=or Hr I

14) &R & IroIfa ufg Sy

et 9T BEd AYFR H, TUAR A U

$% 3Hfd IR gd Ufed B, 919 ¥ UY UgTu|

9¢t g o oY S, SINT-T3H e

St U TR IR &, W 7T Siea |

3F 3(U T B UTSE, g9d 9 §d TRITI

A T erfifa B 3y, W 3R erfifa geTUl

ST SR N TR R, W WSl 7 WAIfE Fare|

S U FI UgH Y IS W1 9T U= P Ik a3t
wy: R A W 7 R fFaer Mival & o 4w fear?
1. ToRTH &I

2. gaTAT &l

3. 3T I

4. 3€d &

Correct Answer :-

o 3gd &l

15) 9fda #AReww 1 sl w1 A B Fo wEer H @ amar B 3% ik 3% wnt A Fm weewm 30 @
m%maﬁammmmw O W AT F1 e T e ¥ AN S o @ A o
forar #a § 3k 38 wet 3@ v @@t m%mmmmm%mm:@wmmﬁm
STaT ¥ W AT BT §, 30 wnt safav am ggr R 3 30§ fcr-vfa w1 gEmER R e € 39 W @
faca-afa qu-wFEs saar &1 N Fo @, A 39 3N s F1 gy = wr ¢ 75 99 7S F W
qEa ared F qF v 38 e A ff| a9 AX 39 W vF 7GR aF van g @ A g3 swA e #@r
gﬁsa@maamlmaﬁmﬁ@qﬁma‘amwmlﬁt@ﬁmaﬂéaﬁaﬁﬁ?wﬁ'@mﬁ?
WI:HT 351, He-819 U, Tt fnan, faers-aeer oo, g B, aoramet @ e, #@ wisa areer I
fire atea sftore fmam 3 @R ey GEX R S, s o, f we R, R fes semn sk s
diaer Tar 3T, diear A e frar 3 @ @1 3§ @ fRwer g3 et 7 W a1 sefav 3w s w
ﬁm#mﬁhmwﬁwﬁWM|m#ﬁéﬂm§% a9 ¥ @I-A/TAGHAT T RBE™
mmmmm*memtmmmu

2



mm#ﬁwéﬁmmmmﬁmmmbﬁﬁa ¥ & 5w g s , A
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Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

When many people work together, they are said to --operate.
1. dis--
2. co--
3. de--

4, in--

Correct Answer :-



2) Fill in the blank with the correct option in the given sentence:

I am too scared of poison-- snakes. What about you?

1. --ful
2. --ing
3. --ed
4. --ous

Correct Answer :-

3) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, Now tumble in!
It's the last lap home!' And I wondered what 'lap’ could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

What were the gentlemen talking about?
1. weather
2. fashion

3. Cricket and news



4. music

Correct Answer :-

e (Cricket and news

4) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’ could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

Where did they change trains?
1. atalevel crossing

2. at a village

3. at a station

4. at an unscheduled stop

Correct Answer :-

® ata station

5) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.



A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’ could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

When did the homeward journey begin?
1. midnight

2. noon

3. evening

4. morning

Correct Answer :-

® cvening

6) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

"Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’ could mean;
But the rest is all lost, for a huge drowsiness crept



Like a yawn upon me; I leant against Mother and slept.

Which are the words in the poem indicate it was a hot day?
1. sunny heat

2. level sun

3. salt on my face

4. drowsiness crept

Correct Answer :-

® sunny heat

7) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists, government
leaders, and civil society representatives who met recently in Stockholm for World Water Week. As
population and incomes grow, with concomitant consumption, there is a sharp rise in the demand
for water for direct use, and as an input for food production. Many countries are also experiencing
rising demand for water to grow biofuel crops. The global supply of freshwater, which every
individual needs at the rate of 1,000 cubic metres per year to meet minimum drinking, hygiene, and
subsistence requirements, is under strain. Unpredictable monsoon patterns attributed to climate
change are adding to the distress. The message to governments is that they must respond urgently
with practical schemes or face escalating conflicts over water in the not-so-distant future. The
priority must be to reduce water intensity in farming, the biggest single user. Even a small but
significant saving in irrigated agriculture can deliver more water for people. That is clear from an
International Water Management Institute forecast: without improved farm productivity, including
measures such as waterproofing of canal surfaces, the volume of water lost due to evaporation
annually could, by mid-century, be nearly double the present level of 7,130 cubic kilometres.

With increase in population and better economic levels consumption has:
1. remains the same

2. decreased

3. not effected

4. increased

Correct Answer :-

e increased



8) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists, government
leaders, and civil society representatives who met recently in Stockholm for World Water Week. As
population and incomes grow, with concomitant consumption, there is a sharp rise in the demand
for water for direct use, and as an input for food production. Many countries are also experiencing
rising demand for water to grow biofuel crops. The global supply of freshwater, which every
individual needs at the rate of 1,000 cubic metres per year to meet minimum drinking, hygiene, and
subsistence requirements, is under strain. Unpredictable monsoon patterns attributed to climate
change are adding to the distress. The message to governments is that they must respond urgently
with practical schemes or face escalating conflicts over water in the not-so-distant future. The
priority must be to reduce water intensity in farming, the biggest single user. Even a small but
significant saving in irrigated agriculture can deliver more water for people. That is clear from an
International Water Management Institute forecast: without improved farm productivity, including
measures such as waterproofing of canal surfaces, the volume of water lost due to evaporation
annually could, by mid-century, be nearly double the present level of 7,130 cubic kilometres.

The supply of fresh water is under stress due to some factors.
Which one of the following is not such a factor?

1. Uncertain weather pattern

2. Every individual needs 1000 cubic metre of water

3. Increase need of water to grow bio fuels

4, Increase in income

Correct Answer :-

» Every individual needs 1000 cubic metre of water

9) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists, government
leaders, and civil society representatives who met recently in Stockholm for World Water Week. As
population and incomes grow, with concomitant consumption, there is a sharp rise in the demand
for water for direct use, and as an input for food production. Many countries are also experiencing
rising demand for water to grow biofuel crops. The global supply of freshwater, which every
individual needs at the rate of 1,000 cubic metres per year to meet minimum drinking, hygiene, and
subsistence requirements, is under strain. Unpredictable monsoon patterns attributed to climate
change are adding to the distress. The message to governments is that they must respond urgently
with practical schemes or face escalating conflicts over water in the not-so-distant future. The
priority must be to reduce water intensity in farming, the biggest single user. Even a small but
significant saving in irrigated agriculture can deliver more water for people. That is clear from an
International Water Management Institute forecast: without improved farm productivity, including
measures such as waterproofing of canal surfaces, the volume of water lost due to evaporation
annually could, by mid-century, be nearly double the present level of 7,130 cubic kilometres.



The passage talks of an increase in the requirement of water for direct use.
Which of the following is not a part of direct use?

1. Agriculture

2. Drinking

3. Cooking

4. Washing

Correct Answer :-

e Agriculture

10) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists, government
leaders, and civil society representatives who met recently in Stockholm for World Water Week. As
population and incomes grow, with concomitant consumption, there is a sharp rise in the demand
for water for direct use, and as an input for food production. Many countries are also experiencing
rising demand for water to grow biofuel crops. The global supply of freshwater, which every
individual needs at the rate of 1,000 cubic metres per year to meet minimum drinking, hygiene, and
subsistence requirements, is under strain. Unpredictable monsoon patterns attributed to climate
change are adding to the distress. The message to governments is that they must respond urgently
with practical schemes or face escalating conflicts over water in the not-so-distant future. The
priority must be to reduce water intensity in farming, the biggest single user. Even a small but
significant saving in irrigated agriculture can deliver more water for people. That is clear from an
International Water Management Institute forecast: without improved farm productivity, including
measures such as waterproofing of canal surfaces, the volume of water lost due to evaporation
annually could, by mid-century, be nearly double the present level of 7,130 cubic kilometres.

The suggested response to the situation regarding the stress on the demand for water is:
1. Double the present levels of evaporation of 7130 cubic kilometres

2. Reduce water use in farming

3. Reduce farming

4. Increase canal surfaces

Correct Answer :-

» Reduce water use in farming

11) Choose the appropriate pronouns for the given sentence.



Being a singer P know how difficult it is to sing in front of a large audience.

1. myself, |
2. herself, she
3. yourself, |

4. himself, you

Correct Answer :-
« myself, |

12) Fill in the blank with the correct option in the given sentence:

Remona accepted the job without
1. hesitation

2. hesitate

3. hesitatively

4. hastily

Correct Answer :-
e hesitation

13) Which of the following options best combines the two given sentences?
This is my cousin. His name is Anil.

1. Anil is my cousin brother.

2. This is my cousin Anil.

3. This is my cousin brother Anil.

4. He is my cousin brother Anil.

Correct Answer :-

e This is my cousin Anil.

14) Choose appropriate articles for the given sentence:



BPOs remain __ popular choice for __ younger generation as they offer numerous job opportunities.
1. the, no article required

2. a, the

3. a, no article required

4. no article required, the

Correct Answer :-

e a,the

15) Choose the appropriate option that rewrites the following sentence in passive voice:

Ramu has not yet completed his project.

1. His project was not yet been completed by Ramu.
2. His project have not yet been completed by Ramu.
3. His project is not yet completed by him.

4. Ramu'’s project has not yet been completed by him.

Correct Answer :-

« Ramu’s project has not yet been completed by him.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

The news commentator had to yell to be heard above the hubbub.
1. bedlam

2. sports activity

3. stillness

4. argument

Correct Answer :-

e bedlam

17) Choose the appropriate tenses from the options given to fill in the blank in the sentence :



Jane never satisfied. She

1. will, will always complain

2. has been, always complained
3. has, shall always complain

4. is, is always complaining
Correct Answer :-

« is, is always complaining

18) Choose the appropriate antonym for the highlighted word in the given sentence.

He thought that he would be rewarded for his deeds in vain.
1. flattered

2. insulted

3. reprimanded

4. punished

Correct Answer :-

e punished

19) Choose the appropriate prepositions for the given sentence:

The doorbellisthecue__ the actresstorun______ stage.
1. over, for

2. of, into

3. for, on

4. for, along

Correct Answer :-

20) Choose an appropriate modal for the given sentence:



As the final submission is due tomorrow, I __ complete my assignment.
1. could
2. must
3. might

4. may

Correct Answer :-
e must

21) Choose the option that best explains the highlighted expression:

When I turn up my toes, I want people to gather around me with lots of flowers.
1. become famous

2. die

3. play well

4. marry

Correct Answer :-

o die

22) Choose the option that best transforms the sentence into its Indirect form:

Mother said to her son, “"Have you done your home work?”

1. Mother asked her son this if he had done his homework.
2. A mother said to her son if he had done his homework.
3. The mother asked her son if he had done his homework.

4. The mother asks her son if he could do his homework.

Correct Answer :-

e The mother asked her son if he had done his homework.

23) Choose the option that substitutes the given phrase appropriately.



A movement or action of the hands or face

1. Action
2. Gesture
3. Animation

4, Posture

Correct Answer :-
e Gesture

24) Read the sentence carefully and choose the option that has an error in it:

Driving across the bridge, the sailboat with its sails billowing in the wind was a beautiful sight to
see.

1. Driving across the bridge
2. was a beautiful sight to see.
3. billowing in the wind

4, the sailboat, with its sails

Correct Answer :-
o Driving across the bridge

25) Read the sentence carefully and choose the option that has an error in it:

The demand of the workers’ union that the dismissed employee to be reinstated has been accepted
by the management.

1. to be reinstated has been accepted
2. by the management.
3. The demand of the workers’ union

4. that the dismissed employee

Correct Answer :-

» to be reinstated has been accepted



26) Change the given statement to indirect speech.
Jack: “New York is livelier than London.”

1. Jack remarks that New York is livelier than London.

2. Jack said that New York has been livelier than London.
3. Jack said that New York is livelier than London.

4, Jack said that New York was livelier than London.

Correct Answer :-

» Jack remarks that New York is livelier than London.

27) Fill in the blank with the correct option in the given sentence
You can see what | am doing you observe me carefully.
1. and

2. whereas

3. if

4. until

Correct Answer :-

28) Fill in the blank with the most appropriate preposition in the given sentence.
She loves to run her fingers my hair.

1. by

2. across

3. above

4. through

Correct Answer :-

29) Choose the most appropriate determiner in the given sentence.



The innings were quite dull
1. third, second

2. two, third

3. second, three

4. three, second

Correct Answer :-

e second, three

30) Choose the right tag:

You didn’t have to wait long, ?
1. did you

2. didn't you

3. had you

4. don't you

Correct Answer :-

Topic:- Social Science (SSC)

1) Who said that, “"The President occupies the same position as the King in the British
Constitution”. / f&w ®e1 o1 fop, “fafewr wfaur # wrgufa, e & F9F ®IF Te0 ST B 1
1. S. Radhakrishnan / TH. ITTHSUT

2. Dr. B.R. Ambedkar / 3f. d.3R. {FIShT

3. Dr. Rajendra Prasad / 3f. Tsleg, UdTG

4. V. V. Giri /&1, AR

Correct Answer :-

e Dr. B.R. Ambedkar / 3f. .37, 37T

2) Who was the ruler of Gujarat when Mahmud attacked Somnath Temple? / STd HgHg q AHATY
WWWMW,WWWWW@?W?



1. Bhim Dev / 11 ¢a

2. Mula Raja / &ell ITSIT
3. Siddha Raja / T T
4. Kumar Pal / AT UTel

Correct Answer :-

« Bhim Dev /1&g

3) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty? /

Frufafed & @ snfea S 9 & Yewg SMfed MT BT AHERT DI AT 82
1. Gol Gumbaz / TTIdT T[FaST

2. Juma Masjid / STTHT ARG

3. Taj Mahal / ATSTHEA

4. Qutub Minar / $dd MR

Correct Answer :-

« Gol Gumbaz / TTdl TSl

4) in the Constitution set forth the humanitarian social precepts that aim at social
revolution. / Tfau= & 3 HHadmard! grTeie IueRn i fAuiia fear e Sexa amfere
wifd 81

1. Right to Equality / HHATAAT &1 HTABR

2. Right to Equal Protection / HIA HI&TOT &l 3TTARR

3. Right to Education / f1&T &1 31/

4, Directive Principles of State Policy / U= & =iifa fadrs aca
Correct Answer :-

o Directive Principles of State Policy / I5g & =fifa [A¢erd aca

5) The test that predicts the performance of individual in a particular field is: / Q'\"'IT qﬁ&I'UT il

ot faRiv & o safaa & weRl &1 Yalgue & &:
1. Diagnostic test / =icifeleh TI&ToT
2. Prognostic test /QaTeATe T&TOT



3. Achievement test / 3UITe™T T{I&oT
4. Teacher made test/ 8T gRT fohar Irar udretor

Correct Answer :-

« Prognostic test /eIt TL&TOT

6) Which among the following correctly represents the Honduran Emerald? / A@faf@a q
& FleT AT ZUT THAeS A TP e F AT 82

1. A beach in Honduras / %)lng H Th g dc

2. An endangered bird of Honduras / ??I§Tm I Th ofaurd gair

3. An ore found in Honduras / i—’ﬂgﬂ'l? H UT ST drell Th 37IEh
4. An island in the Atlantic Ocean / 3fcqifcd L FIRSIRIES H Udh g

Correct Answer :-

« An endangered bird of Honduras / ?ﬂ?l? I Th ofaurd gair

7) Pohang Iron and Steel Company is from which among the following countries? / fFfaf@a
# A NG IS TS T F9eA1 fhg g & B2

1. South Korea / ET&I0T &hIfAT
2. North Korea / 3d3 &IRAT
3. China / @

4, Japan / SITdT

Correct Answer :-

« South Korea / &80T iR

8) Hubbert peak theory is related to which of the following? / gsa¢ @I ﬁ'&'}l’l’ﬂ' frafaf@a
# ¥ fraa gafta &

1. Currency Trade / @l <ITUR

2. Petroleum / UgITorgat

3. Metabolism / I



4. Nuclear Energy / UI{HT] Sl

Correct Answer :-

o Petroleum / mﬂﬂ

9) Who is the administrative head of Prime Minister’s Office? / THTTHN FRATIT & TAHAS
vHE HiT 82

1. Prime Minister / ST

2. Principal Secretary / Ul =g
3. Cabinet / ATIHAS T

4, Cabinet Secretary / #RAsa aRg

Correct Answer :-

« Principal Secretary / T€Tl g

10) A type of evaluation which is used to improve and monitor the progress of students and
teachers is: / WWWW%,GﬁWﬁTfQTWﬁW#@WWW
& forw fFar S #

1. Formative evaluation / {dellcdd Hedldhe
2. Norm-referenced evaluation / #Tids HEfHd Hedihe
3. Summative evaluation / JNTcHD Hedhe

4. Criterion-referenced evaluation / TGS TETHd HedThed

Correct Answer :-

« Formative evaluation / TaelcHD Hedlhd

11) Mind is a ‘Tabula Rasa’. Who said this? / #d TH ‘dgedT W’ (Tabula Rasa’)g I8 e
FET?

1. Immanuel Kant / SHATITel FIc
2. Michel Foucault / TSIl Gehl
3. Friedrich Nietzsche / 3 Al

4. John Locke / STl olfh



Correct Answer :-

« John Locke / SifeT ofih

12) Before Ashoka became Mauryan king, which province did he serve as governor? / 3T2&

A TS 99 A TS FE U9 F TS F T A F WS A?
1. Taxila / 3eIfrerm
2. Vaisal / arsgol

3. Pataliputra / Q'IZT’ﬁ'g?[
4, Ujjain / Soold

Correct Answer :-

o Taxila / 3eIfArem

13) The First Factory Act restricting the working hours of women and children was adopted

during whose time? / Afgen3t AR TTat F F1 F el N yfasf®T I aren ggar
FREET IVFIH Fad G787 F A9a=T T 917

1. Lord Ripon / g Rua

2. Lord Lytton /&S fores

3. Lord Bentinck / i dfee

4. Lord Cornwallis / S HlAdTford

Correct Answer :-

« Lord Ripon/?—fl"é Rua

14) The term Isostasy describes: / 3{\-@? reg fAFT Y ATEAT FIAT &
1. The state of disruption / T Hr FAfa

2. The state of balance / Q:Iﬂ?‘lo_-f Hr Tufa

3. The state of uplift / 3cUTaaT & FUfa

4. The state of subduction / TAFIE@da Hr AT

Correct Answer :-



 The state of balance / F@T‘F—f & ufa

15) The song ‘Amar Sonar Bangla’ written during the Swadeshi Movement of India inspired
the liberation struggle of Bangladesh and was adopted as the National Anthem of Bangladesh.
Who wrote this song? / $TRd & Tageft ed & R o 31w g '3 AR IEer J
TEAGY & AT & T H IR fFar 3 ¥ TRy F Ty T F T H
e 4Tl g Md fraa foar @2

1. Michael Madusudan Dutt / HATSHl AL
2. Mukund Das / W arq
3. Bankim Chandra / 9pdT T

4. Rabindra Nath Tagore / I IR

Correct Answer :-

. Rabindra Nath Tagore / ITAGaATT IR

16) The coral reefs are the marine counterparts of which of the following? / 9dTel e ﬂ'ﬁl’lﬁ,
farafaf@a & & Rraehr wodt wfager g2

1. Savannahs / ZSUTRICaIT O Her (FaTeT)
2. Scrubland / agcwﬁr (Thdols)

3. Temperate forests / GHAATTOT TeT
4, Tropical rainforests / Swresfeddta auf.aa

Correct Answer :-

« Tropical rainforests / Swresfeddta auf.aa

17) The Head Office of Export Promotion Council for Handicrafts (EPCH) is located at? /
grafied frata wader R (e w1 e g7 Rua &

1. Delhi / f&eelt
2. Jaipur / STIGT
3. Varanasi / IRTOTHT
4. Kolkata / @IeTepTdr



Correct Answer :-

« Delhi / figeelt

18) Ajanta Paintings represent the scenes from: / ordr & R @FT & Teal # g &
1. Jatakas / STehTcT

2. Mahabharata / ASTHR I

3. Ramayana / JTHATIOT

4. Upanisads / 3ufaug

Correct Answer :-

o Jatakas / SThTdT

19) Which one of the following aroused a wave of popular indignation that led to the massacre

by the British at Jallianwala Bagh? / eafaf@a & @ Fa e o AT msier i a@w
a1 T & Frad FRor Al garr SfgiErar anr # avHEr gam

1. Government of India Act 1919 / HRT TIPR ATATAIH 1919

2. The Rowlatt Act /& el TFS (Tell hilelel)

3. The Arms Act/ 3gY ATAIH

4. The Vernacular Press Act / Geliarelk U TdC

Correct Answer :-

« The Rowlatt Act/ & Jelc TG (chlell PplcleT)

20) Which one of the following is not a method used for the assessment of personality? /

fFdcd F WFad F AT ITAer i I aeh [ Ffaf@a & @ sla @ a8
1. Project method / giistaTr fafer

2. Projective method / 9&3dT fafer

3. Objective method / TEIAS fafd

4. Subjective method / TcAS fafy

Correct Answer :-



« Projective method / ey fafer

21) Which is not a third Century BCE stupa? / iy eraredY §&r q‘\ﬂ' ®T T[T FieT @T JET

&

1. Dhamek Stupa / ¥THe EJU

2. Kesaria Stupa / ha AT T

3. Amaravati Stupa / 3FAIIAT EU
4, Sanchi Stupa / i U

Correct Answer :-

« Dhamek Stupa / ¥THE T

22) Which is not a structure in the premises of Qutub Minar? / Fq« HarR & WX & *ie
# dxger A

1. Quwaat ul Islam mosque / Pead 3 SEATH HEoIG

2. Alai Darwaza / 34741% REINI

3. Aibak’s Magbara / 0&eh T FHha]

4. Tron Pillar / &g &I TGHAT

Correct Answer :-

« Aibak’s Magbara / U&eh T HbaR

23) Which is the first Biosphere reserve in India? / #Rd & Ugal START Neg (W@
Sta#ge) &l @r &2

1. Sunderbans Biosphere reserve / W W ﬁTrrq;

2. Nilgiri Biosphere Reserve / Fraft saferw Rord

3. Nanda Devi Biosphere Reserve / '_'ET ﬁ W ﬁﬁﬁ

4, Gulf of Mannar Biosphere Reserve /| HAIR &t "@]‘@ IfRRRIR Rord

Correct Answer :-

« Nilgiri Biosphere Reserve / AR IrfpaR o



24) Which Gupta king contested the Huna according to Bhitari Pillar Inscription? / fferfl
¥ Re@ & AR FF ea To0 g & e quy e an

1. Samudragupta / HHGIC

2. Chandragupta I/ W II
3. Chandragupta I / EI';F'IW—[ I
4, Skandagupta / F—W\T{Il?r

Correct Answer :-

« Skandagupta / Wl?f

25) Which of the following is metamorphic rock? / fFifaf@a & & FEEART e i
@ &

1. Marble / HITAII

2. Sandstone / Tef3T U
3. Mica / 31dh

4. Schist / T&¥C

Correct Answer :-

« Schist / Q¥

26) Which among the following was the last European country to rule Goa? /
farafaf@a & & aar w arEe Fa arar sifaw i Ao e @r ane
1. Netherlands /:ﬂa_‘iﬁ_é

2. England / §90l8

3. Portugal / g?-‘ﬂl'l?-r

4. France / »ig

Correct Answer :-

« Portugal / lg?-i?'ﬂ?{



Which among the following is known as “Coffee Port” of the world? / RFfaf@a H A
freg & “@rhr O’ F T F AT T F?

1. Santiago / dfe3men

2. Santos / Herg

3. Rio de Janeiro / T 31 SiaRY
4. Buenos Aires / geTd 34

Correct Answer :-

« Santos / T

28) Which metal was unknown to Harappans? / &lsT &t T d g0 AT A?
1. Bronze / &T&T

2. Silver / TaTd

3. Copper / dTdl

4. Tron / &%

Correct Answer :-

« Iron /e

29) Which Constitutional Amendment Act removed Right to Property from the list of
Fundamental Rights? / 6@ Tdunfas geus sf@faasw & gufa § 3ffer =) #ifow
FOFRY fr gt F ger o

1. 42nd / 42d

2. 418t / 419

3. 46t / 469
4. 44 / 443

Correct Answer :-

30) To promote equity in agriculture the government had introduced system where the maximum
size of land which could be owned by an individual is fixed. / F& F fsqarar # Fgm@T &7 F fov TWFR F



___ vomel o A off, B ve safaa qarn waiftga qfR & sftwae smer e R
1. Land ceiling / 37/ @hfeiar (dfz #hfer)

2. Land reform / ${f& gurR

3. Land Parcel / f& uriel

4. Land fixation / §ff& fA&Ror

Correct Answer :-

o Land ceiling / {f# Afear (s Hife)

31) Second five year plan was popularly known as ./ g daadiy e # ST ¥
# & AH § ST ST ATl

1. Gandhian Model / Imrardy Alser

2. Nehruvian Model / Sg&ardy Alsd

3. Mahalanobis Model / FgANTIT Hisel

4, Harrod-Domar Model / 3-8l AlsoT

Correct Answer :-

« Mahalanobis Model / #graaeg Ase

32) Match the educationists with their contribution. / fI&TITaEY &1 3d%¢ AWEH ¥ AT FI

Educationists Contribution
a. Lev Vygotsky / Toig i. Project Method / Uiside
GIETIRSE] fafer yaRararar fafa
b. BF. Skimmer/ & ii. Constructivist Leaming /
LT Tary [ ¥ 3t
c. Kilpatrick / frerdfeas ii. Jurisprudential Inquiry /

faferemes q@a=h A=

d. DDIIE.ld Dll‘.-EL’ & James P. Shﬂ.‘.-‘EL’ iv_ Prggrmmgd Lemﬁng !
| Sres faa o f. | sRigHas e
T

1.a—(iv); b—(iil); ¢ — (i1); d — ()

2.a—(i); b—(ii); c — (ii1); d — (iv)



3. a— (iii); b — (ii); ¢ — (iv); d — (i)
4. a— (ii); b— (iv); ¢ — (i); d — (iii)
Correct Answer :-

+ a—(i1); b—(iv); ¢ — (i); d — (iii)

33) Which is the process of assessing the progress of learners by identifying areas of difficulties through
diagnoses and remedial actions as part of the instructional process? / A&aca® 9fhar & {TA & T A
e 3R ITERcAS R F Aegd ¥ FfeaEal F a5 i ggue FF Ranfat f gwofa s 1 srFaa
A ufear F4r {2

1. Summative Evaluation / 1eTcd HedTdhe
2. Final Examination / 3ifd& gdrem

3. Integrated Evaluation / TehThd Tl
4. Formative Evaluation / fdT0TcA® FHedidhe

Correct Answer :-
« Formative Evaluation / f#0TicHd Hedidet

34) Which is the forest conservation movement in India where local people prevented the cutting down

of trees? /STRA H SieT T I WIGTUT el § &l TAT 1 987 FF Fead § VFd 872
1. Bhoodan movement / gl 3iarelet

2. Cooperative movement / H&HRIRAT 3TGIele

3. Consolidation of land / ¥{f& T ThIHIOT

4. Chipko movement / Ul 3ficreled

Correct Answer :-

o Chipko movement / Ul 3ficreled

35) Which of the following is the correct psychological way of proceeding in Social Science teaching? /

frafaf@d & ¥ =1 o Aae Reor & 3 9ea &1 3T AadTaas aler 22
1. Difficult to Simple / &fdT & T

2. Concrete to Abstract / 3T & 373

3. Unknown to Known / 3T<ITd & Td

4. General to Particular / I ¥ falRy



Correct Answer :-

« Concrete to Abstract / 3T & 33

36) Which among the following is an example for non-institutional credits? / fAw=ifaf@a & & =l ar
-veura @@ & v v sEmeer §?

1. Regional rural banks / &35 ImoT dh
2. Nationalised banks / TER—IGd deh

3. Moneylenders / HIgHR
4, Cooperative banks / TEPRT Seh

Correct Answer :-

* Moneylenders / HIEHR

37) Which among the following is a non-conventional source of energy? / Ffaf@a # & &la @1 F=1
F TF I-WReET | 82

1. Natural gas / UTpfades 3rg
2. Petroleum / Ueiforga
3. Coal and lignite / dgerm 3R foase

4, Wind energy / Uaal il

Correct Answer :-
« Wind energy / 9de Zail

38) Projective techniques are used for the assessment of one’s J @Y TH &
¥ Aediwa & v WefFea awedlel &1 39 fHar S 8

1. Development / farera
2. Personality / < fthcd
3. Growth / gig

4. Intelligence / g@'

Correct Answer :-

+ Personality / cgThca



39) is a policy which aimed at replacing or substituting imports with domestic production. /

iy § W 35y Al §Y ale Ieue & afaewia #ar ar age 2
1. Balance of trade / SITAR HJelel

2. Balance of payment / 33TdT Hcelel

3. Export reduction / faaTa =geieor

4. Import substitution / 3T GfaEATTA

Correct Answer :-

o Import substitution / 3T Yfa€ATT

40) observed that ‘Social Sciences is perhaps the singular curricular area which can prove to
be the most effective tool for providing education in the context of all the core components envisaged by
National Policy on Education.’ / o g & 'aEiee e, g e e &89 § S e w
sy Afe garr aRwfoaa waft AeT aeat & daot F e e F& #1 qa@ gerrdt 3uaor wifaa &
"t '

1. National Curriculum For Elementary And Secondary Education (1988) / grafdies 3iR #reafdes fam & fow
T ursTshA (1988)

2. National Curriculum Framework (2005) / T€/T qregaar & u@r (2005)
3. Secondary Education Commission (1952-1953) / #regfdies f&r 3mater (1952-1953)

4. A Framework of NCERT (1975) / TAHSAREN &7 T @I (1975)

Correct Answer :-

« National Curriculum For Elementary And Secondary Education (1988) / urafdies 3iR smeafas fem & fow
TET ursTshA (1988)

41) Who said that, “The United Nations was not created to take humanity to heaven, but to save it from
hell.”? / fraar FgT &, "WYFd TSE AT F TG & o I F fAv 7@l qaqmm = an, afes 5@ /T @
O & faT T = an"?

1. Dag Hammarskjold / 39T $3REies
2. Antonio Guterres / Telaar Ul?'l'\“f
3. Boutros Boutros-Ghali / 318 gH14-HTell

4. Ban Ki—Moon/ @I & - #

Correct Answer :-

« Dag Hammarskjold / 397 §eREsIes



42) Who was the first Indian to be the Governor General of India? / HRT & HERISIUTA (FTAT FeITel)
TS T TEA AR FieT 4?2

1. C. Rajagopalachari / @T. JSMUTATRY

2. Fakhruddin Ali Ahmed / FE%RA 3Tell 3@
3. Lal Bahadur Shastri / @TeT TgTgl mET

4. V.V. Giri / dr.dr. Rk

Correct Answer :-

« C. Rajagopalachari / €. JSNUTATARY

43) Who upheld the view that religion can never be separated from politics? / fFaa 38 Tfcaor FHI
TR @M F et F goredifa & Foft sreer @t Far s qwar?

1. Dayanand Saraswati / dTeig aITdcT
2. Raja Ram Mohan Roy / ST IH HAlged I
3. Gopal Krishna Gokhlae / MTel S0T IMEel

4, Mahatma Gandhi / #FgIcHT e

Correct Answer :-

o Mahatma Gandhi / #BgIcAT ey

44) The process of transferring the income from asset owning people to non-asset owning people is
./ IREUR & Afas At & RuREefy & Fafaca arer @t @ T FEaRd # A aiea-
gl

1. Vicious cycle effect / gash JHTT

2. Trickle-down effect / TUdha gled (fCwmer-a3a gaTa)

3. Balanced growth strategy / Egfeid gfg T0rfd

4. Lorenz curve / oliXel dsh

Correct Answer :-

o Trickle-down effect / TUshed Rgled (TSher-313 Q)

45) The Members of Parliament are free to raise any matter that they think is important during

Y, & R W8 & wewd et oY 3§ A Y So & AT TadT @
S 3e¢ oerar § BF Ageayet gl




1. Question Hour / U¥hTel
2. Adjournment Motion / TJITA FJEATT
3. Half -an-hour discussion / Y ge Hir =T

4, Zero Hour / [ <hTcl

Correct Answer :-

e Zero Hour / eTPT

46) Which among the following rivers is most described in the Rig Veda? / efef@a & O Fia
7€ wIdg H waw 3w afvia &2

1. Ganga / I

2. Sindhu / T8Yg

3. Saraswati / EIEddl
4. Chenab / TRaTa

Correct Answer :-

« Sindhu / &Y

47) Who among the following is the author of “Ain-i-Akbari”? / fAFafaf@d & q “3Tga-U-
HHERD FT AGH HieT §2

1. Ishwar Das / $4R &IH
2. Abul Fazl / 3Tqel Hholel
3. Mulla Daud / dedll &T5G

4. Akbar / 3HPheX

Correct Answer :-

e Abul Fazl / el Bolel

48) is a system where by the farmers pool their milk produced according to different grading
and it is processed and marketed to urban centres through cooperatives. / TF Wt cgaEAT § @l
foraTer sreer-3raer Ao & AR IR SeNfed qU F WSO Fa ¢ AR I weEr) wiAfaAt & Ameaw @
Faifta vd el Heal # ey fhar Smar g



1. Operation Mantra / 3T FF
2. Operation Torrent / 3T eRe
3. Operation Serve / 3T TJ

4. Operation Flood / 3T Fels

Correct Answer :-

« Operation Flood / 3T Fels

49) Which of the following banks installed the first ATM in India? / @&faf@a # & Fg dF & sma &
gl TAUH TG Ram

1. ICICI / 3TSE3SHI3TS
2. HDFC / TISIUwhET
3. Yes Bank / 39 &
4. HSBC / TauadrHr

Correct Answer :-

o HSBC / TIqug&rdr

50) The Road Back to Nature is a book discussing the global ecology and destructive farm practices. Who is

the author of this book? / ﬁ?@ﬁg#ﬂﬁ%mﬁﬁaﬁ?m?ﬁmwﬂ
B 6 TP [P 8| 59 [P & AP P 82

1. Bill Mollison / forer #iferaa
2. Albert Howard / 37cdc '&’-Tilé
3. Eliot Colman / TToIIC hidtdla

4. Masanobu Fukuoka / H{-II"I\IGJ, l;,l”@\ﬁld’)l

Correct Answer :-

« Masanobu Fukuoka / Im'lzﬁ@ %Ghm

51) The learning strategy which is associated with 5 E's (Engage, Explore, Explain, Elaborate

and Evaluate) model is: / 31f2RTH YUHAf <t 5 § & 919 JS g3 © (Hew, 3ayul, sare, fawar
3R geuisp) Hisd &

1. Constructivism / IIITAIE



2. Social inquiry model / HTHTSIH FPESIE) Algel
3. Branching programming / M@ YT

4. Team teaching / €1 frafor

Correct Answer :-

« Constructivism / GIIATAE

52) The process of collecting, analyzing, recording and interpreting information about

student learning is known as: /W%W%ﬁ@ﬁmmaﬂﬁ, ICEGILG]
o, Rpld T3 3R A= w1 ot ufsbar &1 =1 s wran &:

1. Role play / T &
2. Assessment / T I
3. Testing / rifaly]

4. Dramatization / TC®IT FUIR

Correct Answer :-
o Assessment / 3Tch ¢l

53) To choose appropriate teaching strategy, the teacher considers which of the

following factors? / ISUgad fR1&vr Iurifa g & forg, Riere Fafafaa § @ fea
PRP R IR Tar g2

1. Sports/cultural days in the school / ¥Ffhel A @Fr/'\q'i'\'?ﬁﬁ?«‘? feaa
2. Visits by inspecting authorities / TARI&T0T 3TARIRGT gRT HAT
3. Abilities of the learners / TRUGTTIAT fr Aozary

4. Year Plan given by the school / TaaTerd gRT & TS q§ it

Correct Answer :-

« Abilities of the learners / &=t Y Joaardt

54) The term “brainstorming” was first coined by: / eq "AR-HYT" Jad Te’?r
ST GRT U fovar T T :

1. Osborn / 3NHdTT

2. Johnson / ST



3. Caldwell Cook / @resdol By
4. Bruner / §eIX

Correct Answer :-

« Osborn / 3&dla
55) Idealism strongly promotes: / 3eR=idrg Tgar A3 &I 9¢raT T 8:

1. Source of knowledge is nature / Upfd Tl &I AT Bl

2. Senses are the gateways of knowledge/ HAGATT FATd &1 §R T

3. Axiological belief in absolute values / TqUf Tl & SRTaTd! faym
4. There are many truths as there are many paths / ﬁ T3 8 Fifes ﬁ NS

Correct Answer :-

« Axiological belief in absolute values / FFC‘[Uf&F\’Iﬁ o 3Ryrare! fayrg

56) To attend the individual differences in the class, what should the teacher of Social Science

do? / FaT H SAFAINT IHal ' FASAS & v, gwfas e &1 Rate: -

1. Uses variety of learning experiences / affea 31T 3-1@3431 P ST BAT %"I

2. Gives different types of assignments / affeT gpR & W (fAcer) &ar gl

3. Conducts tests end of the week / HAIE % Id FH qre0r 3T wdrn %»'l

4. Makes sure all the students are present everyday / Ide mﬂ' Il % fr gt o & st
3ufeyd &

Correct Answer :-

» Uses variety of learning experiences / affea 3T 3-1@3431 PT ST FAT %"I

57) The teacher shows photo copies of the letters written by Mahatma Gandhi while teaching a
lesson on the struggle for Independence to: / f¥aT& TadadT 9uY 9T 916 gerd §"’J HGIcHAT
el garr fR e wE i we) wifar gafav R §:

1. Supplement the concepts with facts / d2IT & ATY HTYRONAT Hl S & fow
2. Adopt deductive approach / faeTaTca® TP U & forw|

3. Use problem solving procedures / HHAEIAT HATUTA UThATIT PT TANT el & foIT|



4. Execute a project / URISTAT (Wiolee) &l fAsaiicd & & fow

Correct Answer :-

« Supplement the concepts with facts / Tl & TTY ITURON3T Pl g & forw

58) Who set up the Indian Independence League? / AR Fadadr 1 frasr Taifiaa $ire
1. Dadabhai Naoroji /W‘-ﬂ'ﬁc:ﬁﬁﬁﬁ

2. Rashbehari Bose / Tmﬁ%'lﬁ a

3. B.R.Ambedkar / &1.3R.37dSehT

4.Mahatma Gandhi / H&THT Tieh

Correct Answer :-

« Rashbehari Bose / THTEERT a9

59) EBP stands for: / SaIUl &7 fasga ¥ 3:
1. Evidence Based Practice / Tidseg d¥s Ufdeq

2. Evidence Based Problem / Tfdged 9= Uleald

3. Education Based Practice / Tgehered 9% Ufded

4. Education Based Problem / Ugeheld 93 Ufeeld

Correct Answer :-

« Evidence Based Practice / tfaseq d¥s UfFeq

60) Density of population is computed by which of the following method. / ST ST & Y9 DI

orT o | & for fafyr gy 96t et 31
1. Female population divided by area / &Fthel gRT TAHITST Al ITAaEAT

2. Male population divided by area / &Fhel gRT faHTTSIT gy SAGET

3. Area divided by total population / el SaaEdT gRT faufaa aawa
4. Total Population divided by area / &9%d gRT fafaa ool SAGET

Correct Answer :-

« Total Population divided by areca / &9%hel gRT TaHTSd ol SAEET






